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Type 5

1. ` 1500 is lend in two parts in such a manner

that simple interest on one part at rate of 10%

per annum for 5 years is equal to simple in-

terest at rate of 12.5% per annum for 4 years.

Find the sum lent at 12.5% ?

` 

10% 

12.5% 

12.5% 

(A) ` 500 (B) ` 1000

(C) ` 750 (D) ` 1250

2. The simple interest on ` 4,000 in 3 years at

the rate of x% per annum equals the simple

interest on ` 5,000 at the rate of 12% per

annum in 2 years. The value of x is

` 4,000 3 x% ` 5,000 

12% x 

(A) 10% (B) 6%

(C) 8% (D) 9%

3. If A borrowed ` P at x% and B borrowed ` Q at

y% per annum at simple interest at the same

time, then the amount of their debts will be

equal after how many years?

A ` x% ` P B y% `

Q (>P) 

(A) 
Q P

100
Px Qy

(B) 
Px Qy

100
Q P

(C) 
Px Qy

100
P Q

(D) 
P Q

100
Px Qy

4. A father left a will of ` 35 lakhs between his

two daughters aged 8.5 years and 16 years

such that they will get equal amounts when

each of them reach the age of 21 years. The

original amount invested at 10% p.a. Simple

interest. How much did the elder daughter get

at the time of the will?

8.5 `

35 

10% 

(A) ` 17.5 lakhs/ (B) ` 21 lakhs/ 

(C) ` 15 lakhs/ (D) ` 20 lakhs/ 

5. Anil lent out two equal sums in two parts at

the rate of 8% and 7% per annum on simple

interest. If the former is recovered 6 months

earlier than the later. And he received equal

amounts of ` 2560 each from both the parts.

Find the principal?

8% 7% 

` 2560 

(A) ` 4000 (B) ` 2000

(C) ` 1000 (D) None

6. A sum of ` 7,930 is divided into 3 parts and

given on loan at 5% simple interest to A, B and

C for 2,3 and 4 years respectively. If the

amounts of all three are equal after their re-

spective periods of loan, then loan received

by A was ?

` 7,930 A, B

C 

A 

(A) ` 2,760 (B) ` 3,050

(C) ` 2.800 (D) ` 2,750

7. A person divided a sum of Rs. 17,200 into

three parts and invested at 5%. 6% and 9^

per annum simple interest. At the end of two

years, he got the same interest on each part

of money. What is the money invested at 9%?

`

Simple Interest [ Part - V,VI ]
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(A) ` 3200 (B) ` 4000

(C) ` 4800 (D) ` 5000

8. Simple interest on ` 4,000 at rate of x% per

annum for 3 years is equal to simple interest

on ` 5000 at rate of 12% per annum for 2 years.

Find the value of x?

4,000 x% 3

5,000 12% 2

x

(A) 10% (B) 6%

(C) 8% (D) 9%

9. Two equal sums are lent at 10% and 8% simple

interest p.a. respectively, at the same time.

The first sum is received 2 years earlier than

the second one and the amount received in

each case was ` 36,900. Each sum was....

10%  8% 

2 

` 36,900 

(A) ` 20,500 (B) `  20,200

(C) `  18,100 (D) `  21,500

10. Two equal sums were lent on simple interest

at 6% and 10% per annum respectively. The

first sum was recovered two years later than

the second sum and the amount in each case

was `1105. What was the sum (in `) lent in

each scheme?

 6%  10%

 ̀ 1105 

 (` ) [CGL 2020]

(A) 850 (B) 936

(C) 891 (D) 900

11. A man invests an amount of ` 1,05, 750 in the

name of his son, daughter and his wife at

simple interest in such a way that they get

equal interest after 3, 4 and 5 years respec-

tively if the rate of interest is 5% per annum,

Then find the amount invested for the wife.

 ̀  1,05,750

3, 4 5  

5% 

(A) ` 25,000 (B) ` 27,000

(C) ` 28,000 (D) ` 30,000

Type 6

12. If a man receives 1/4th part of his capital at

rate of 3% simple interest, again 2/3rd  part

at 5% rate of simple interest and remaining

part at rate of 11% . What is the rate of inter-

est of total sum received?

1

4
3%, 

2

3
5%

11%

(A) 4.5% (B) 5%

(C) 5.5% (D) 5.2%

13. A man deposits ` 500 for 4 years and ` 600 for

3 years at simple interest rate in a bank. He

receives total interest of ` 190 on both. What

is the annual rate of interest?

4

`500 3 ` 600

` 190

(A) 4% (B) 5%

(C) 2% (D) 3%

14. Two equal sums are lent at 7% and 5% simple

interest rate respectively. Total interest earned

on both loans is ` 960 in 4 years. What is the

total sum lent?

7% 5%

4 ` 960

(A) ` 2000 (B) ` 2500

(C) ` 4000 (D) ` 3000

15. ` 500 is invested at simple interest rate of 12%

per annum and another sum is invested at

10% per annum. If total received interest is `
480 from both sums after 4 years, then what

is another sum?

` 500 12% 

10% 

` 

(A) ` 450 (B) ` 750

(C) ` 600 (D) ` 550
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16. Dalajit  lent ` 10800 to Jaabir for 3 years and

` 7500 to Kabir for 2 years on simple interest

at the same rate of interest and received ̀ 1422

in all from both of them as interest. The rate

of interest per annum is—

`

` 

`
(A) 3.5% (B) 4%

(C) 3% (D) 4.5%

17. Damodar lent Rs 10600 to Jaafar for 4 years

and ` 7300 to Kailas for 3 years on simple

interest at the same rate of interest and re-

ceived ` 2250.5 in all from both of them as

interest. The rate of interest per annum is—

`

` 

`

(A) 4 Percent / (B) 4.5 Percent / 

(C) 5 Percent / (D) 3.5 Percent / 

18. Jayesh borrowed a sum at rate of 6% per an-

num for first 3 years, 8% for next 5 years and

at rate of 10% per annum after 8 years. If he

pays ` 7840 at the end of 12 years, find the

sum borrowed?

6% 8% 

10% 

`

(A) ` 12,000 (B) ` 9,000

(C) ` 6,000 (D) ` 8,000

19. A certain sum of money amounts to ` 2200 at

5% interest, ̀  2320 at 8% interest in the same

period of time. The period of time is—

5% ` 2200 

8% ` 2320 

(A) 2 years / (B) 4 years / 

(C) 5 years / (D) 3 years / 

20. Gaurav and Rohan invested some money at

6% & 7% per annum respectively at simple

interest. At the end of 2 years they found that

together they receive ` 354 as interest. One

fourth of Gaurav's initial investment is equal

to one fifth of the money invested by Rohan.

Find the total money invested?

6%  7% 

` 354

(A) 2200 (B) 2500

(C) 2700 (D) 3200

21. Mr. Anil borrows a sum of ̀  1200 at the begin-

ning of a year. After 4 months ` 1800 more is

borrowed at a rate of interest double the pre-

vious one. At the end of the year, the sum of

interest on both the loans is ` 216. What is

the first rate of interest per annum ?

` 1200 

` 1800 

` 216

(A) 9% (B) 6%

(C) 8% (D) 12%

22. At simple interest a person invests some

amount at 5% per annum and another amount

at 9% per annum. If two-thirds of the first

amount is equal to the four-fifths of the sec-

ond amount, and total interest earned in 2

years is ` 2070. What was the total sum in-

vested ?

5% 

9% 

4/5 

` 2070

(A) ` 18000 (B) ` 17500

(C) ` 15180 (D) ` 15240

23. A person invested some amount at the rate of

12% simple interest and the remaining at 10%.

He received yearly an interest of ` 130. Had

he interchanged the amounts invested, he

would have received an interest of ` 134. How

much money did he invest at different rates ?

`

`
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(CDS 2010(I))

(A) ̀  500 at the of 10% ̀  800 at the rate of 12%

(B) ̀  700 at the of 10% ̀  600 at the rate of 12%

(C) ̀  800 at the of 10% ̀  400 at the rate of 12%

(D) ̀  700 at the of 10% ̀  500 at the rate of 12%

24. Sudeep invested 1/8 of a certain sum at 5%

p.a. for two years and 3/5 of the sum at 6%

p.a. for two years and the remaining at 10%

p.a. for two years. If the total interest received

is ` 1,674, then the total sum invested is:

1/8 5%

2 3/5 

6% 2 

10% 2 

` 1,674

(CPO – 2019)

(A) ` 12,500 (B) ` 12,000

(C) ` 10,500 (D) ` 13,000

25. A sum of ` 12,800 is invested partly at 15%

per annum and the remaining at 12% per an-

num simple interest. If the total interest at the

end of 3 years is ` 5,085, then how much

money was invested at 15% per annum?

12,800 15% 12%

3 

5085 15% 

(CPO – 2019)

(A) ` 5,200 (B) ` 7,500

(C) ` 5,800 (D) ` 5,300
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Type 5

1. (C) Let First part = x
Then Second part = (1500 – x)
Accordingly to question–

10 5

100

x
=

(1500 ) 12.5 4

100

x

 x = 1500 – x

 x =
1500

2
= ` 750

Or
SI % of First part = 10% × 5

= 50%
S.I.% of Second part = 12.5% × 4

= 50%

  Both S.I.% is equal then amount will be same
when principal is also same.

So, Each part = 
1500

2
= ` 750

2. (A) ATQ,

4000 3

100

x


5000 2 12

100
x = 

5 2 12

4 3
= 10% per annum

3. (A) A B
Borrowed = P Borrowed = Q
Rate = x% Rate = y%
ATQ,

P + 
PxT

100
 = Q+ 

QYT

100


PxT

100
– 

QYT

100
= Q  – P

T = 
100 Q P

Px Qy

4. (B) Total Amount = 35L
Elder daughter's amount = x
Younger daughter's amount = 35L – x
Rate = 10%
at age of 21 year = A

1
 = A

2

Time for elder daughter = 21 – 16 = 5 yrs
Time for younger daughter = 21 – 8.5 = 12.5 yrs

 x+
x 10 5

100
= (35L–x)+

35 x 10 12.5

100

L

 x + 
x

2
 = 35L – x + 

125

100
 (35L) – 

125

100
x

Solution

x + 
x

2
 + x + 

5

4
x = 35L 

5
1

4


15x

4
 = 35L × 

9

4

x = 21 L

5. (A) I part II Part
P P
@ 8% @ 7%

For 
1

t
2

 years t  years

From both parts we are receving equal
amounts, therefore SI will be same

Hence 

1
P 8 t

P 7 t2

100 100

 8t – 4 = 7t
t = 4

Given P + 
P 7 4

100
 = 2560

P = 2000
So,  Total Principal = 2 × 2000 = 4000

6. (A) ATQ, 
110 115 120

A B C
100 100 100

    

 A : B : C = 276 : 264 : 253

A/s share = 
7930

793
× 276

= ` 2760

7. (B) Let sum invested @5% be P1, @ 6% be P2
then @ 9% = 17200 – (P1 + P2)

P1 × 5 × 
2

100
= P2 × 6×

2

100
 or P1 = 

6

5
P2

Also P2 × 6 × 
2

100
= [17200 – (P1 + P2)]

×9×
2

100

Or 2 P2 = 
11

17200 P2
5

× 3

Or 
33

2
5

P2 = 17200 × 3
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P2 = 17200 × 3 × 
5

43
= 6000

So P1 = 
6

5
= P2 = 7200

So sum invested @ 9% = 17200 – (6000 +
7200) = ` 4000

8. (A) Accordingly to question–

4000 x 3

100

 
=

5000 12 2

100

 

 120x = 1200
 x = 10%

9. (A) SI RT       Rate  10 : 8

                       Time  8 : 10
                        Diff.               2    2 years
  Time = 8 years and 10 years
Amount = 100% + 10 × 8%

= 180%           ` 36900
       1%           ` 205
    100%           ` 20,500

10. (A) R          6      :     10
T          10    :     6

                            

                    4          2
                    2          1

Total SI% = 
6 10

2
 = 30%

Amount = 100% + 30% = 130%

P = 
1105

130
 × 100

= 8.5 × 100
= ` 850

11. (A) P
1
, P

2 
& P

3 
respectively son, daughter and

wife shares

1P 3 5

100
 = 

2P 4 5

100
 = 

3P 5 5

100

      
1P

20
 = 

2P

15
= 

3P

12

 P
3
 = Wife = 

105750 12

47

Wife's share = 2250 × 12
                     = `   27,000 

Type 6

12. (B) Let total principal = ` 1
Accordingly to question–

= 
1

4
× 3% + 

2

3
× 5% + [1–

1

4
–

2

3
] × 11%

= 
3

%
4

+ 
10

%
3

 + 
1

11%
12

 
 

  

=  
9 40 11

%
12

 
 = 

60

12
% = 5%

13. (B) Let Rate = R%
Accordingly to question–

500 R 4

100

 
 + 

600 3 R

100

 
= 190

 20R + 18R = 190
 R = 5%

14. (C) Let sum was x Rs.
ATQ,

x 7 4

100

 
+

x 5 4

100

 
= 960

 28x + 20x = 960 × 100
 48x = 960 × 100
 x = `  2000

Total sum  = 2x = `  4000

15. (C) Let x is the invested at 10%
Accordingly to question–

12 10
500 4 4

100 100
x = ` 480

 240 + 
2

5
x = 480


2

5
x = 240

 x =
240 5

600
2




16. (C) ATQ,


10800 3×R

100




7500 2 R

100

 


 324R + 150R = 1422
 474R = 1422
 R = 3%

17. (D) Let Rate of interest = R%

Total Interest = 
10600 4 R

100
+ 

7300 3 R

100
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 2250.5 = 424 R + 219 R

 R = 
2250.5

643
= 3.5%

18. (D) Time for sum taken at 10% rate = (12 – 3– 5) = 4
years
SI % = Rate% × Time = 3 × 6% + 8% × 5 + 10% × 4

= 18% + 40% + 40% = 98%

Principal (P) =
S.I. 100

SI

=
7840 100

98



= ` 8000

19. (A) (8 – 5)% = 2320 – 2200
3% = 120
1% = 40
5% = 200
So, Principal = (2200 – 200) = 2000

S.I. = 
PRT

100

200 = 
2000 5 T

100

T = 
200

100
 = 2 years

20. (C) G : R
6% 7%

Let principal x y
ATQ,

x y

4 5


x 4

y 5

Total interest = 354 = 
x 6 2 y 7 2

100 100

354 = 
4 6 2 14

5 100 100
y

y = 1500 and x = 1200
So, Total principal = x + y = 1200+1500= ` 2700

21. (B) Let the rate of interest = R%

Interest on ` 1200 for 1 yr = 
1200 R 1

100
 = 12R

Interest on 1800 rupee for 8 months [Rate =

2R%] = 
1800 2R 8

100 12
 = 24R

Total Interest = 216 = 12R + 24R

 R = 
216

36
 = 6%

22. (C) Let amount invested at 5% interest is x and at
9% interest is y
ATQ,

x × 
2

3
 = y × 

4

5

 x = 
6

5
y ...(i)

Interest after two year ...(ii)

= x × 
5 9

2 y
100 100

× 2 = 2070

 
x 18y

10 100
 = 2070

 By eq. (i)

30
y

100
 = 2070

y = 6900
Now total invested money

= 
6

5
× 6900 + 6900 = 15180

23. (D) Let the person invested amounts x and y
into two different rates of interest.


x 12 1

100


y 10 1

100
= 100

     
P r t

SI
100

 12x +10y = 13000
.........................(i)

and 
y 12 1

100
+ 

x 10 1

100
= 134

 12y + 10x = 13400
......................(ii)
On solving Eq (i) and (ii) we get

x = ` 500 and y = ` 700

24. (B) Let total sum invested be = x
ATQ,

x 5 2 3x 6 2 11x 10 2

8 100 5 100 40 100
 = 1674

x 9x 11x

80 125 200
= 1674

279x

2000
= 1674

x = 12000

25. (D)
x 15 3

100
 + 

12800 x 12 3

100
 = 5805

 x = 5300


